

SNS COLLEGE OF ENGINEERING Kurumbapalayam (Po), Coimbatore – 641 107



AN AUTONOMOUS INSTITUTION

Accredited by NBA – AICTE and Accredited by NAAC – UGC with 'A' Grade Approved by AICTE, New Delhi & Affiliated to Anna University, Chennai

Topic: 3. 6 – EVOLUTES

6. Find the evolute of the hyperbola
$$\frac{x^2}{a^2} - \frac{y^2}{b^2}$$

The parametric equation of the hyperbola
 $x = a \sec 0; \quad y = b \tan 0$.
 $\frac{dx}{d\theta} = a \sec \theta \tan \theta; \quad \frac{dy}{d\theta} = b \sec^2 \theta$.
 $y_1 = \frac{b \sec^2 \theta}{a \sec \theta \tan \theta} = \frac{b}{a} \cdot \frac{1}{\cos \theta}, \quad \frac{\cos \theta}{\sin \theta}$
 $y_1 = \frac{b}{a} \csc \theta$.
 $y_2 = \frac{d}{d\theta} \left(\frac{b}{a} \csc \theta\right) \cdot \frac{d\theta}{d\theta}$
 $\frac{d}{d\theta} \tan \theta = -\frac{\cos \theta}{\cos \theta}$
 $\frac{d}{d\theta} \tan \theta = -\frac{\cos \theta}{\cos \theta}$.
 $\frac{d}{d\theta} \tan \theta = -\frac{\cos \theta}{\cos \theta}$.



AN AUTONOMOUS INSTITUTION

Accredited by NBA – AICTE and Accredited by NAAC – UGC with 'A' Grade Approved by AICTE, New Delhi & Affiliated to Anna University, Chennai

$$\begin{split} \overline{\chi} &= \chi - \frac{y_{1}}{y_{2}} \left(1 + y_{1}^{2} \right) \\ &= A Sec \theta - b_{\alpha} Cossec \theta \left(-\frac{a^{2}}{b} \right) \frac{Sin^{3}\theta}{\cos^{3}\theta} \left(1 + \frac{b^{2}}{a^{2}} (ssc^{2}\theta) \right) \\ &= A Sec \theta + a_{\alpha} \frac{1}{sin\theta} \frac{Sin^{3}\theta}{\cos^{3}\theta} \left[a^{2} + \frac{b^{2}}{a^{2}} \frac{1}{sin^{2}\theta} \right] \\ &= A Sec \theta + a_{\alpha} \frac{1}{sin\theta} \frac{Sin^{2}\theta}{\cos^{3}\theta} \left[a^{2} \frac{sin^{2}\theta}{a^{2}sin^{2}\theta} \right] \\ &= A Sec \theta + a_{\alpha} \frac{Sin^{2}\theta}{\cos^{3}\theta} \left[a^{2} \left(1 - \cos^{2}\theta \right) + b^{2} \right] \\ &= a Sec \theta + \frac{1}{a\cos^{3}\theta} \left[a^{2} - a^{2} \cos^{2}\theta + b^{2} \right] \\ &= a Sec \theta + \frac{1}{a\cos^{3}\theta} \left[a^{2} - a^{2} \cos^{2}\theta + b^{2} \right] \\ \overline{\chi} = a Sec \theta + \frac{1}{a} sec^{3}\theta \left[a^{2} - a^{2} \cos^{2}\theta + b^{2} \right] \\ &= a^{2} Sec \theta + \frac{1}{a^{2} sec^{3}\theta} \left[a^{2} - a^{2} \cos^{2}\theta + b^{2} \right] \\ &= a^{2} Sec \theta + a^{2} Sec^{3}\theta - a^{2} \cos^{2}\theta + b^{2} \\ &= a^{2} Sec \theta + a^{2} Sec^{3}\theta - a^{2} \cos^{2}\theta + b^{2} \\ &= a^{2} Sec \theta + a^{2} Sec^{3}\theta - a^{2} \cos^{2}\theta Sec^{3}\theta + b^{2} Sec^{3}\theta \\ &= a^{2} Sec \theta + a^{2} Sec^{3}\theta - a^{2} \cos^{2}\theta Sec^{3}\theta + b^{2} Sec^{3}\theta \\ &= a^{2} Sec \theta + a^{2} Sec^{3}\theta - a^{2} Sec^{3}\theta + b^{2} Sec^{3}\theta \\ &= a^{2} Sec \theta + a^{2} Sec^{3}\theta - a^{2} Sec^{3}\theta + b^{2} Sec^{3}\theta \\ &= a^{2} Sec \theta + a^{2} Sec^{3}\theta - a^{2} Sec^{3}\theta + b^{2} Sec^{3}\theta \\ &= a^{2} Sec \theta + a^{2} Sec^{3}\theta - a^{2} Sec^{3}\theta + b^{2} Sec^{3}\theta \\ &= a^{2} Sec \theta + a^{2} Sec^{3}\theta \\ &= a^{2} Sec \theta + b^{2} Sec^{3}\theta \\ &= a^{2} Sec \theta + b^{2} Sec^{3}\theta \\ &= a^{2} Sec \theta + b^{2} Sec^{3}\theta \\ &= a^{2} Sec^{3}\theta + b^{2} Sec^{3}\theta \\ &= a^{2} Sec^{3}\theta \\ &$$





AN AUTONOMOUS INSTITUTION

Accredited by NBA – AICTE and Accredited by NAAC – UGC with 'A' Grade Approved by AICTE, New Delhi & Affiliated to Anna University, Chennai

$$\begin{aligned} \overline{y} &= y + \left(\frac{1+y_{1}^{2}}{y_{2}}\right) \\ &= b + an0 + \left(\frac{a^{2}}{b} \frac{sin^{2}\theta}{cos^{2}\theta}\right) \left(\frac{1+b^{2}}{a^{2}} \cos c^{2}\theta}\right) \\ &= b + an0 - a^{2}_{b} + an^{2}\theta \left[\frac{a^{2} + b^{2} \csc^{2}\theta}{a^{2}}\right] \\ \overline{y} &= b + an0 - \frac{4an^{2}\theta}{b} \left[\frac{a^{2} + b^{2} \csc^{2}\theta}{a^{2}}\right] \\ b\overline{y} &= b^{2} + an0 - \frac{4an^{2}\theta}{b} \left[\frac{a^{2} + b^{2} \csc^{2}\theta}{a^{2}}\right] \\ b\overline{y} &= b^{2} + an0 - a^{2} + an^{2}\theta - b^{2} + an\theta \sec^{2}\theta \\ &= b^{2} + an\theta - a^{2} + an^{2}\theta - b^{2} + an\theta \sec^{2}\theta \\ &= b^{2} + an\theta - a^{2} + an^{2}\theta - b^{2} + an\theta \sec^{2}\theta \\ &= b^{2} + an\theta - a^{2} + an^{2}\theta - b^{2} + an\theta (1 + 4an^{2}\theta) \\ b\overline{y} &= -(a^{2} + b^{2})^{\frac{2}{3}} + an^{2}\theta \\ \left(b\overline{y}\right)^{\frac{2}{3}} &= (a^{2} + b^{2})^{\frac{2}{3}} + an^{2}\theta \\ \left(a\overline{x}\right)^{\frac{2}{3}} - (b\overline{y})^{\frac{2}{3}} &= (a^{2} + b^{2})^{\frac{2}{3}} \\ (a\overline{x})^{\frac{2}{3}} - (b\overline{y})^{\frac{2}{3}} &= (a^{2} + b^{2})^{\frac{2}{3}} \\ (an)^{\frac{2}{3}} - (b\overline{y})^{\frac{2}{3}} &= (a^{2} + b^{2})^{\frac{2}{3}} \\ (an)^{\frac{2}{3}} - (by)^{\frac{2}{3}} &= (a^{2} + b^{2})^{\frac{2}{3}} \end{aligned}$$